ZOOM FOR
DETAILS

NAUTILUS

& sTARTRAC:

THROWDOWN

-7300:

S

e

atpost & Handlebar Detail

# SKU Qty Description

2 |000-0073 | 6 END CAP, LOWER SLIDE FORE AFT ADJ

10 [ 000-0164 | 4 END CAP, FORE AFT SLIDE

18 | 001=7345 | 2 KNOB, POP PIN, LONG, ASSEMBLY, SCHWINN
32 | 110=3561 | 15 | SCREW, M5x0.8, 16mm, PHM, PH, SS, BO
34 | 110-3606 | 7 SCREW, M4.2, 199mm, FHT, PH, SS

35 | 110=3640 | 3 SCREW, PHP, M4x0.7x10, SS

36 | 110=3642 | 2 SCREW, M3X0.5,172mm, SHC, HK, SS,GR 8.8
37 | 110=3643 | 1 SCREW, M3X0.5,6mm,RHM,PH,SS

51 | @8=5828 | 1 SCHWINN ECHELON 2G

54 | 718=5858 | 1 CABLE, CONSOLE-BOARD, ACPP GEN BIKE
55 | 718-6165 | 1 SADDLE, FULL BLACK, AC BIKE

65 | 740=8822 | 1 SRB, MPOWER Q, RECTANGLE HOLE

66 | 740-8927 | 1 COSMETIC CAP ASSY

67 | 740-8929 | 1 MOUNT, M POWER Q

68 | 740-8930 | 1 SRB MOUNT, M POWER Q

71 | 740=9114 | 1 ASSY, SEAT POST W/WEAR STRIP, ACPP

72 | 740-9119 | 1 ASSY, HANDLEBAR TUBE W/WEAR STRIP, ACPP
83 | 740-9203 | 1 SEAT SLIDE ASSEMBLY, ACPP

84 | 740-9204 | 1 HANDLEBAR ASSEMBLY, ACPP

96 | ©02=5702 | 8 SCREW, M4.8, 16, PHT, PH, SS



https://www.gympart.com/itemdesc.aspx?ic=STS1617&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10866&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11885&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11842&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10811&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11315&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10812&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10478&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10477&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11449&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11975&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB1207&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1115&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1445&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11325&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10827&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SAC113&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10796&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10797&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST12132&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

